FUNCTION ncl d (wire_in[3..0],clk,reset) RETURNS (cnt_out[1..0]);
FUNCTION nmL_d (a[1l..0],b[21..0],c[1..0],clk,reset) RETURNS (pixel _hit);
I NCLUDE "l pmor" ;

SUBDESI GN masksl 3

clk, reset : |INPUT ;
BO_in : INPUT ;
W _in : INPUT ;
ER FLAG in : | NPUT ;
w_i n[49..0] © I NPUT ;
BO out : QUTPUT,
W _out : QOUTPUT;
ER FLAG out : QUTPUT;
pi xel [ 11.. 0] : QUTPUT;

)

VARI ABLE
BO out :dff;
BO_tenp :dff;
W _out :dff;
W tenp :dff;
ER FLAG out :dff;
ER FLAG tenp :dff;

% w re nanes %

wo_ 2 : NODE;
wo_101 : NODE;
wo_102 : NODE;
w0 1 : NODE;
wl 102 : NODE;
wl 1 : NODE;
wl 2 : NODE; %unused%
wl_ 101 : NODE;
wl_100 : NODE;
w2_101 : NODE;
w2_0 : NODE; %unused%
w2 1 : NCODE;
w2_100 : NODE;
w2_102 : NODE;
w3 1 : NODE;
w3_100 : NODE;
w3_101 : NODE;
w3 0 : NODE;

w4_101 : NODE;
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% the foll owi ng nodes represent the count

Qunused%

Qtnused%

of the 4 Isb wires (w0-w3)

%



a_2 102_101_1[1..0] © NODE;

a_101_1_101_100[ 1..0] © NODE;
a_102_101_1 101[1..0] © NODE;
a_1 101_100_100[ 1.. 0] © NODE;
a_1 1 101 _100[1..0] © NODE;
a_102_101_101_1[1..0] © NODE;
a_101 1 1 101[1..0] © NODE;
a_1 101_100 0[1..0] © NODE;
a_102_102_101_1[1..0] © NODE;
a_102_101_1 1[1..0] © NODE;
a_101 101 _1 101[1..0] © NODE;
a_1 101_101_100[ 1..0] © NODE;
a_101 1 101_101[1..0] © NODE;
a_2 102_101_101[1..0] © NODE;
a_2 102_102_101[1..0] © NODE;
a_101_101_100_0[1..0] © NODE;
a_101_100_100_0[ 1.. 0] © NODE;
a_1 1 101 _101[1..0] © NODE;
a_101_101_1 1[1..0] © NODE;
a_101_101_100_100[1..0] © NODE;

% the following nodes represent the count of the 4 mddle wires (W4-w7) %

b_101_101 100 O[1.. 0] © NODE;
b_100_0_100_99[ 1.. 0] © NODE;
b_101_100_0_100[ 1. . 0] © NODE;
b_0_100_99 99[1..0] © NODE;
b_0_0_100 _99[1..0] © NODE;
b_101_100_100 O[ 1. . 0] © NODE;
b_100_0_100_100[ 1. . 0] © NODE;
b_100_100_0_100[ 1. . 0] © NODE;
b_100_0_0_100[1..0] © NODE;

b_101_100_0_0O[1..0] © NODE;



b_0_100_100_99[ 1.. 0]
b_0_100_99 ni[1..0]

b_1 101 100 _0O[1..0]
b_100_100_99 99[ 1. . 0]
b_0_0_100_100[1..0]
b_100_100_0_O[1..0]
b_101_101_100_100[1..0]

b_1 101 _100_100[ 1.. 0]

% the foll owi ng nodes represent the count

c_100_99 ni _ni[1..0]
c_nl 99 98 98[1..0]
c_100_99 n1_99[1..0]
c_nl 99 99 98[1..0]
c_99 n1_99 99[1..0]
c_100_99 99 ni[1..0]
c_99 99 nl1 _99[1..0]
c_99 ni1_nl _99[1..0]
c_0.100 99 ni[1..0]
c_100_100_99 ni[1..0]
c_99 n1_99 98[1..0]
c_nl_nl_99 98[1..0]
c_nl 99 98 n2[1..0]
c_0.100_99 99[1..0]
c_99 99 98 n2[1..0]
c_nl_nil 99 99[1..0]
c_0_100_100_99[1.. 0]
c_99 99 nl_ni[1..0]
c_100_100_99 99[1.. 0]

c_0_0_100 _99[1..0]

NCDE;

of the 4 msb wires (w3-wll)

% the follow ng nodes are the result of a mask for a given pixel %

pO_n{ 35. . 1] : NODE

%



pl_nf 36.. 1] : NODE;
p2_ni 34. . 1] : NODE;
p3_nf 31.. 1] : NODE;
p4_ni 31.. 1] : NODE;
p5_ni 34. . 1] : NODE;
p6_ni 34. . 1] : NODE;
p7_ni 30. . 1] : NODE;
p8_ni 31.. 1] : NODE;
p9_ni 32.. 1] : NODE;
p10_ni 39. . 1] : NODE;

p11_ni 38.. 1] : NODE;

Begi n

BO out.clk = clk;

BO out.clrn = reset;
BO_tenp.clk = clk;
BO_tenp.clrn = reset;
BO_tenp.d = BO_in;
BO_out.d = BO_tenp.q;
W _out.clk = clk;

W) out.clrn = reset;
W _tenp.clk = clk;

W tenp.clrn = reset;
W _tenp.d = W _in;

W out.d = W_tenp.q;

ER FLAG out.clk = clk;

ER FLAG out.clrn reset;

ER FLAG tenp.cl k cl k;

ER FLAG tenp.clrn = reset;

ER FLAG tenp.d = ER FLAG.i n;
ER FLAG out.d = ER FLAG tenp.q;

% set the input wires to the correct wire %
w0_1=w i n4;

w0 _101=w i n27;

w0_2=w i n9;

w0 _102=w i n33;

wl_100=w i n22;

wl 1=w i n5;

wl_101=w i n28;

wl 2=w i nlO; dunused%
wl_102=w i n34;

wW2_0=w_i nO; dunused%



w2_100=w_i n23;
W2_1=w i n6;
w2_101=w_i n29;
w2_102=w_i n35;
w3_0=w_i nl;
w3_100=w_i n24;
w3_1=w i n7;
w3_101=w_i n30;
w4 _0=w_i n2;
w4_100=w_i n25;
w4 _1=w i n8;
w4_101=w_i n31;
ws_0=w i n3;
w5_100=w_i n26;
w5_101=w_i n32;
w6_99=w i n39;
w6 _0=w i nl18;
w6_100=w_i n45;
W7_nl=w inl3;
W7_99=w i n40;
w7_0=w_i nl9;
w7_100=w_i n46;
w8 _nl=w inl4;
w8 _99=w i n41l;
w8_0=w_i n20;
w8_100=w_i n47;
w9 98=w i n36; unused%
w9 _nl=w inlb;
W9 99=w i n42;
w9 0=w i n21;
w9_100=w_i n48;

wl0 n2=w i nll; unused%



wl0_98=w i n37
wl0 nl=w i nlé6;
w10 99=w i n43;
w10 _100=w i n49;
wll n2=w i nl2;
wll 98=w i n38;
wll nl=w i nl7,
wll 99=w i n44;

% count the number of msses inthe 4 |sb wires %
a2 102 101 _1[1..0] = nmcl d(wo_2,wl_102,w2_101,w3_1,clk, reset);

a_101_1 101_100[1..0] = ntl_d(wo_101,wl_1,w2_101, w3_100, clk, reset):

a_102_101_1_101[1..0]

ncl d(w0_102,wl_101,w2_1,w3_101, cl k, reset);

a_1 101_100_100[1..0] = ntl_d(wo_1,wl_ 101, w2_100, w3_100, cl k, reset):
a_1 1 101 _100[1..0] = ntl_d(wo_1,wl_1,w2_ 101, w3_100,cl k, reset);

a_102_101_101_1[1..0]

ncl d(w0_102,wl_101,w2_101,w3_1,clk,reset);

a_101_1 1 101[1..0] = ntl_d(wo_101,wl_1,w2_1,w3_101,clk, reset);

a_1_101_100 O[1..0]

mcl d(w0o_1,wl_101,w2_100,w3_0, cl k, reset);

a_102_102 101 1[1..0] = nctl_d(wo_102,wl_102, w2_101,w3_1,cl k, reset);
a_102_101 1 1[1..0] = ntl_d(w0_102,wl_101,w2_1,w3_1,clk, reset);

a_101_101 1 101[1..0] = nctl_d(wo_101,wl_101, w2_1,w3_101,clk, reset);
a_1 101 101 _100[1..0] = nctl_d(wo_1,wl_ 101, w2_101, w3_100, cl k, reset);
a_101_1 101 _101[1..0] = ncl_d(wo_101,wl_1,w2_101, w3_101,clk, reset);
a_2 102_101_101[1..0] = ncl_d(wo_2, wl_102, w2_101, w3_101, cl k, reset);
a_2 102_102_101[1..0] = nctl_d(wo_2, wl_102, w2_102, w3_101, cl k, reset);
a_101_101 100 O[1..0] = nctl_d(wo_101,wl_101, w2_100,w3_O0, cl k, reset);

a_101_100_100 O[1..0] = ntl_d(w0_101, wl_100, w2_100, w3_0, cl k, reset):

a_1 1 101 _101[1..0] = ntl_d(wo_1,wl_1,w2_101,w3_101,clk, reset);

a_101_101 1 _1[1..0]

mcl d(w0o_101,wl_101,w2_1,w3_1,clk, reset);

a_101_101_100_100[1..0] = ncl_d(wo_101,wl_ 101, w2_100, w3_100, cl k, reset);

% count the number of msses inthe 4 mddle wires %
b 101 101_100_0[1..0] = ntl_d(w4_101,ws5_101,w6_100,w7_0O, cl k, reset);



b_100_0_100 99[1..0] = ntl_d(w4_100, ws5_0, w6_100, w7_99, cl k, reset )
b_101_100 _0_100[1..0] = nctl_d(w4_101,w5_100, w6_0, w7_100, cl k, reset) ;
b 0 100 99 99[1..0] = ntl_d(w4_0,w5s_100, w6_99, w7_99, cl k, reset) ;

b 0 0 100 99[1..0] = ncl_d(w4_0,w5_0,w6_100, w7_99, cl k, reset);
b_101_100_100 O[1..0] = nctl_d(w4_101,w5s_100, w6_100, w7_O, cl k, reset) ;
b_100_0_100_100[1..0] = ntl_d(w4_100,w5_0, w6_100, w7_100, cl k, reset) ;
b_100_100_0_100[1..0] = nctl_d(w4_100, w5s_100, w6_0, w7_100, cl k, reset) ;

b_100_0_0_100[1.. 0]

mcl d(w4_100,w5_0,w6_0, w7_100, cl k, reset);

b_101_100 0 O[1..0] = ntl_d(w4_101, w5_100, w6_0, w7_O, cl k, reset);

b_0_100_100_99[1.. 0]

nmcl d(w4_0,ws_100, w6_100,w7_99, cl k, reset);

b_0_100_99 ni[1..0]

mcl d(w4_0,w5_100,w6_99,w7_n1l, clk, reset);

b_1 101 100 O[1..0] = ntl_d(w4_1,ws_101, w6_100,w7_O, cl k, reset);

b_100_100_99 99[1..0] = nctl_d(w4_100,w5s_100, w6_99, w7_99, cl k, reset);

b_0_0 100 _100[1..0] = ntl_d(w4_0,ws_0,w6_100, w7_100, cl k, reset);

b_100_100_0_0[1.. 0]

mcl d(w4_100,w5_100,w6_0,w7_0, cl k, reset);
b 101 _101_100_100[1..0] = ntl_d(w4_101,w5_101, w6_100, w7_100, cl k, reset);
b 1 101 100 100[1..0] = ncl_d(w4_1,w5_ 101, w6_100, w7_100, cl k, reset);

% count the nunber of misses in the 4 nsb wires %
c_100_99 nl1 n1[1..0] = ntl_d(wd_100,w9_99,wl0_nl,wll nl,clk,reset);
c_nl 99 98 98[1..0] = ntl _d(w8_nl, w9 99, wi0_98,wll 98, clk, reset);
c_100 99 nl1 99[1..0] = ncl_d(w8_100,wo 99, wi0 nl, wll_ 99, cl k, reset);

c_nl_99 99 98[1..0]

mcl d(w8_nl, w9 99, wi0_99,wl1l 98, cl k, reset);

c_99 n1 99 99[1..0] = ntl_d(w8_99, wo_nl, wi0 99, wll 99, cl k, reset);

c_100_99 99 ni1[1..0] = ntl_d(w8_100, w9 _99, wl0_99, wil_n1,clk, reset):

c_99 99 n1 99[1..0] = ntl_d(w8_99, wo_99,wl0 nl,wll 99, clk, reset);

c_99 nl_ni1 _99[1..0]

ml d(w8_99, w9 _nl,wi0_nl,will 99, cl k, reset);

c_0_100_99 ni[1..0]

ml d(w8_0,w9 100,w10_99,wl1l nl,clk,reset);
c_100_100_99 n1[1..0] = ntl_d(w8_100,wo_100,wl0_99,wll ni,clk, reset);

c_99 nl1_99 98[1..0]

ml d(w8_99, w9 _nl1,wi0_99,wl1l 98, cl k, reset);

c_nl_nl 99 98[1..0] ml d(w8_nl, w9 _nl, wi0_99,wl1l 98, cl k, reset);

c_nl_99 98 n2[1..0]

mcl d(w8_nl, w9 99, wi0_98,wll n2, cl k, reset);



c_0_100_99 99[1..0]

mcl d(w8_0,w9 100, wl0_99,wl1l 99, cl k, reset);

c_99 99 98 n2[1..0] = ntl_d(w8_99, wo_99,wl0 98, wll n2, clk, reset);

c_nl_nl 99 99[1..0]

mcl d(w8_nl, w9 _nl, wi0_99,wll 99, cl k, reset);
c_0_.100_100 99[1..0] = ntl_d(w8_0, w9 100, wl0_100, wll_99, cl k, reset);
€c_99 99 n1 n1[1..0] = ncl_d(w8_99,wo_99,wl0 nl1,wll ni,clk, reset);
c_100_100 99 99[1..0] = ntl_d(w8_100, w9 100, wl0_99, wll 99, cl k, reset);
c_ 0.0 100 99[1..0] = ntl_d(w8_0,wo_0,wl0 100, wll 99, clk, reset);

% | ook at the follow ng masks to check

for nmore than msses, if 3 or less set pixel %
pll ml=nnl_d(a_2_102_ 101 1[],b_101_101 100 O[], c_100 99 nl ni[],clk, reset);
p3_mil=nml_d(a_101_1 101 100[],b_100_0 100 99[],c_nl1 99 98 98[], clk, reset);
p7_mil=nml_d(a_102_101 1 101[],b_101_100_0_100[],c_100_99 n1 99[],clk, reset);
p6_ml=p7_mi;
pl_mi=nml_d(a_1_101_100_100[],b_0_100 99 99[],c_nl 99 99 98[], clk, reset);
pO_nil=pl1 nt,
p3_nm2=nml_d(a_1 1 101 _100[],b_0_0_100 99[],¢c_99 n1 99 99[],clk,reset);
p2_nl=p3_nP,
p9_mi=nml_d(a_102_101 101 1[],b_101_100_100 O[], c_100_99 99 ni[],clk, reset);
p8_ml=p9_mi;
p5_mi=nml_d(a_101_1 1 101[],b_100 0_100_100[],c_99 nl 99 99[], clk, reset);
p4_nil=p5_ nt,
p5_n2=nml_d(a_101_1 101 100[],b_100_0 100 99[],c_99 nl 99 99[], clk, reset);
p4_nP=p5_nP,
p7_n2=nml_d(a_101_1 1 101[],b_100 100 0_100[],c_99 99 nl1 99[], clk, reset);
p6_n2=p7_nt;
p5_nmB=nml_d(a_101_1_1 101[],b_100_0_0_100[],c_99 nl1 _n1_99[],clk, reset);
p4_nB=p5_n8;
pl_n2=nml_d(a_1 101 _100 O[], b _0_100_99 99[],c_nl_99 98 98[],clk, reset);
pO_nP=pl_nP,
pll n2=nnl_d(a_102_102_101 1[],b_101_101_100 O[], c_0_100 99 ni[],clk, reset);

p10_mi=pll n2;



p9_n2=nml_d(a_102_101_1 1[],b_101_100_100 O[], c_100_100 99 ni[],clk, reset);
p8_n2=p9_nP;
p3_nB=nml_d(a_101_1 101 _100[],b_100_0 100 99[],c_99 nl 99 98[],clk, reset);
p2_n2=p3_n8;
p5_mi=nml_d(a_101_1 101 100[],b_100_0_ 100 _100[],c_99 nl1 99 99[], clk, reset);
p4_md=p5_n4;
p9_n8=nml_d(a_102_101 1 1[],b_101_100 0 O[], c_100_99 99 ni[],clk, reset);
p8_nB=p9_n8;
p7_n8=nml_d(a_101_1 1 101[],b_100 0_0_100[],c_99 99 nl 99[],clk, reset);
p6_nB=p7_n8;
p9_mi=nml_d(a_102_101_1 101[],b_101_100 0 O[], c_100 99 99 ni[],clk, reset);
p8_md=p9_n4;
p3_mi=nml_d(a_101_1 101 100[],b_100_0 100 99[],c_nl _nl 99 98[],clk, reset);
p3_nb=nml_d(a_1 1 101 _100[],b_0_0_100 99[],c_n1_n1 99 98[],clk,reset);
p2_nB=p3_nb;

p3_n6=nml_d(a_1_1 101 100[],b_0_100_100 99[],c_nl_99 99 98[],clk, reset);
p2_md=p3_nb;
p9_nb=nml_d(a_102_101_101_1[],b_101_100_0_100[],c_99 99 nl 99[], clk, reset);
p9_nb=nml_d(a_102_101_1 1[], b _101_100 0 _100[],c_100 99 nl1 _99[], clk, reset);
p3_n7=nml_d(a_101_1 101 100[],b_0 _0_100 99[],c_99 nl1_99 98[],clk, reset);
p2_nb=p3_nv;

p7_mi=nml_d(a_102_101_1 101[],b_100_0_0_100[],c_99 n1 n1 99[],clk,reset);
p9_nv=nml_d(a_102_101_1 101[],b_101_100 0 O[], c_100 99 nl1_ni[],clk, reset);
p8_nb=p9_nv;
p9_n8=nml_d(a_102_101_101_1[],b_101_100 0 O[], c_100 99 nl1 _99[], clk, reset);
pl_n8=nml_d(a_1_101_100_100[],b_0_100 100 99[],c_nl1 99 99 98[],clk, reset);
pO_nB=pl_n8;
p7_nb=nml_d(a_101_101 1 101[],b_100_100_0_100[],c_100_99 n1 99[],clk, reset);
p6_md=p7_nb;
p3_n8=nml_d(a_1_101_ 101 _100[],b_0_100 100 99[],c_nl _nl 99 98[],clk, reset);

p2_nb=p3_n8;



p7_nb=nml_d(a_102_101_1 101[],b_100_100_0_100[],c_99 99 nl 99[],clk, reset);
p6_nb=p7_nb;

pl_mi=nml_d(a_1 101 100_0O[],b_0_100 99 ni[],c_n1 99 98 n2?[],clk, reset);
pO_md=pl_n4;

p7_n7=nml_d(a_101_101_1 101[],b_100_100_0_100[],c_99 99 nl 99[], clk, reset);
p6_nb=p7_nv,
p9_nd=nnml_d(a_102_101 1 1[],b_101_100 0 O[], c_100_99 nl1 99[],clk, reset);
p5_nb=nml_d(a_101_1 101 101[],b_100_0_ 100 _100[],c_99 nl1 _nl 99[],clk, reset);
p4_nb=p5_nb;
p3_nd=nml_d(a_101_1 101 _100[],b_0 0 100 99[],c_n1_99 99 98[],clk, reset);
p5_nb=nml_d(a_101_1 101 101[],b_100_0_ 100 _100[],c_99 n1 99 99[], clk, reset);
p4_nb6=p5_nb;
pl_nb=nml_d(a_1_101_ 101 100[],b_0_100 99 99[],c_nl 99 98 98[], clk, reset);
pll nB=nnl_d(a_2_ 102 101 1[],b_101_101 100 O[], c_100_100 99 ni[],clk, reset);
pl0_nP=pll_n8;

p7_nmB=nml_d(a_101_101_1 101[],b_100_0_0_100[],c_99 n1 n1 99[],clk,reset);
p6_nvV=p7_n8,
p7_nd=nml_d(a_101_101 1 101[],b_100_100_0_100[],c_100_99 nl ni[],clk, reset);
p6_nB=p7_nD;

pll mi=nnl_d(a_2_ 102 101 1[],b_1 101 100 O[], c_0_100 99 99[],clk, reset);
pl0_nB=pll_my;

pll nb=nnl_d(a_2_102_101 1[],b_101_101 100 O[], c_100 99 99 ni[],clk, reset);
p7_mlO=nnl_d(a_102_101_1 101[],b_100_100_0_100[],c_99 nl nl 99[],clk, reset);
p3_mlO=nnl_d(a_1_1 101_100[],b_0 0 100 99[],c_99 nl1 99 98[],clk, reset);
p2_nv=p3_mlO;
p5_nv=nml_d(a_101_1 1 101[],b_100_0_100_99[],c_nl1l nl1 99 98[],clk, reset);

p9 mlO=nnl_d(a_102_101_1 101[],b_101_100_0_100[],c_100_99 nl ni[],clk,reset);
p8_nb6=p9_mlO;

pll n6=nnl_d(a_102_101_101_1[],b_101_100_100 O[], c_100_100_99 ni[],clk, reset);
pl0_mi=pll_n®;

pl_né=nml_d(a_1_101_100_100[],b_0_100 99 99[],c_nl1_99 98 98[], clk, reset);



pO_nb=pl_nb;

pll n¥v=nnl_d(a_2 102 101 1[],b_1 101 100 O[], c_100 99 99 ni[],clk, reset);

pll nB8=nnl_d(a_102_102_101_1[],b_101_101_100_ O[], c_100_100_99 ni[],clk, reset);
pl0_nb=pll_n8;

pll nP=nnl_d(a_102_102_101_1[],b_101_100_100 O[], c_100_99 99 ni[],clk,reset);
pl0_n6=pll_n®;
p9_mll=nni_d(a_102_101 1 1[],b_101 100 _0_O[],c_100 99 n1l ni[],clk,reset);
p8_nv=p9_ml1;

pl_nv=nml_d(a_1 101 100_100[],b_0_100_99 nl[],c_n1l 99 98 98[],clk,reset);
pO_nb=pl_nv;
p5_n8=nml_d(a_101_1 1 101[],b_100 0_0 _100[],c_99 nl1 99 99[],clk, reset);
pl_nmB=nml_d(a_101_1 101_100[],b_0_100_99 99[],c_n1l 99 98 n2[],clk,reset);
p9_ml2=nnl_d(a_102_101_1 1[],b_101_100 100 O[], c_100 99 99 ni[],clk, reset);
p8_nB=p9_ml2;

pll mlO=nnml_d(a_2_102_101_1[],b_1 101 100 O[], c_100_100 99 ni[],clk, reset);
p9 ml3=nnl_d(a_102_101_101_1[],b_101_100_0 100[],c_100_99 n1 99[],clk, reset);
pll mll=nnml_d(a_2_102_101_1[],b_1 101 100 O[],c_0_100_99 ni[],clk, reset);
pl0_nv=pll mi1;

pl_md=nml_d(a_1 101 100 _0O[],b_0_100 99 ni[],c_nl1 99 98 98[],clk, reset);
pO_nvV=pl_n®H,

pl_mlO=nni_d(a_1 101_100_100[],b_0_100_99 ni[],c_n1_99 98 n2?[],clk,reset);
p7_mll=nnl_d(a_101_101_1 101[],b_100_0 0_100[],c_99 99 nl1 99[], clk, reset);
p6_md=p7_ml1;
pl_mll=nnl_d(a_1_101_101_100[],b_0_100 100 99[],c_nl1_99 99 98[],clk, reset);
pO_nB8=pl_ml1;
p9_ml4=nnl_d(a_102_102_101_1[],b_101_100_100 O[], c_100_99 n1 99[],clk,reset);
p9_mi5=nnl_d(a_2 102 101 1[],b_101_100 0 O[], c_100 99 n1 99[], clk, reset);
p7_ml2=nnml_d(a_102_101_1 101[],b_100_0 0_100[],c_99 n1 99 99[], clk, reset);
pl_ml2=nnil_d(a_1 1 101 100[],b_0_100_99 99[],c_nl1 99 98 n2[],clk, reset);
p7_ml3=nnl_d(a_102_101_1 101[],b_101_100_0_100[],c_99 nl nl 99[],clk, reset);

pll_ml2=nml_d(a_102_102_ 101 _1[],b_1 101 100 O[],c_0_100 99 99[],clk, reset);



pl0_nB=pll mi2;
pl_ml3=nnml_d(a_1_101 101 _100[],b_0_100 99 99[],c_nl1 99 98 n2[],clk, reset);
p5_md=nml_d(a_101_1 1 101[],b_100 0_100 99[],c_99 nl1 99 98[],clk, reset);
pl_ml4=nnml_d(a_1_101 101 _100[],b_0_100 99 99[],c_nl1 99 99 98[],clk, reset);
pO_md=pl_ml4;

pll ml3=nnml_d(a_2_102 101 1[],b_101_100_100 O[], c_100_99 99 ni[],clk, reset);
p3_mll=nnl_d(a_101_1 101 _100[],b_0_100 100 99[],c_nl1_99 98 98[], clk, reset);

pll ml4=nnml_d(a_102_ 102 101 1[],b_101_100_100 O[], c_100 100 99 ni[],clk, reset);
pl0_nP=pll_mi4;

p3_ml2=nnil_d(a_1 1 101 100[],b_0_100_100_99[],c_n1l n1 99 98[],clk,reset);
p2_nB8=p3_ml2;

p7_ml4=nnl_d(a_102_101_1 101[],b_101_100_0_100[],c_99 99 n1 99[],clk, reset);
p3_ml3=nnil_d(a_101_1 101 _100[],b_0_0_100_99[],c_n1l n1 99 98[],clk,reset);
p2_nmd=p3_ml3;
pl_mi5=nml_d(a_1_101 101 _100[],b_0_100 99 ni[],c_99 99 98 n2[],clk, reset);
p5_mlO=nml_d(a_101_1 101 101[],b_100_0 0_100[],c_99 nl_nl1_99[],clk, reset);
p4_nv=p5_mlO;

p9 ml6=nnl_d(a_102_102_101_1[],b_101_100_100 O[], c_100_99 nl1 ni[],clk,reset);
pll ml5=nml_d(a_2_102 101 1[],b_101_100_100 O[], c_100_99 n1 _ni[],clk, reset);
p7_ml5=nnl_d(a_102_101_1 101[],b_100_100_0_100[],c_100_99 n1 99[],clk, reset);
p6_ml0=p7_mil5

pll _ml6=nnml_d(a_102_ 102 101 _1[],b_101 101 100 O[], c_0_100 99 99[],clk, reset);
pl10_ml0=pl1_ni6;

pll ml7=nml_d(a_2_102_101_101[],b_1 101 100 O[], c_100_100 99 ni[],clk, reset);
pll ml8=nnl_d(a_102_ 101 101 _1[],b_101 101 100 O[], c_100 100 99 ni[],clk, reset);
pl0_mll=pl11_mi8;

pl_ml6=nnil_d(a_1 1 101 100[],b_0_100_99 ni[],c_nl1 99 98 n2[],clk, reset);
p7_ml6=nml_d(a_102_101_1 1[],b_101_100 0_100[],c_99 99 nl1 99[], clk, reset);
pl_ml7=nnml_d(a_1_1 101_100[],b_0_100 99 99[],c_nl_99 98 98[],clk, reset);

p9 ml7=nnl_d(a_102_101_101 _1[],b_101_100_0 O[], c_100 99 nl ni[],clk, reset);

pl_mi8=nnl_d(a_1_101_100_100[],b_0_100 99 ni[],c_99 99 98 n2[],clk, reset):



pll ml9=nml_d(a_2_102_101_1[],b_101_101_100 O[],c_0_100 99 ni[],clk, reset);
pl0_ml2=p11_mi9;
p3_ml4=nnl_d(a_101_1_ 101 _100[],b_100_0 100 99[],c_nl1_99 99 98[],clk, reset);
p9 ml8=nnl_d(a_102_101_101_1[],b_101_100_0 O[], c_100 99 99 ni[],clk, reset);
p8_nmd=p9_ml8;

p3_ml5=nnil_d(a_1 101 _101_100[],b_0_0_100_99[],c_n1l n1 99 98[],clk,reset);
p2_ml0=p3_mil5
p5_mll=nnml_d(a_101_1 1 101[],b_100_0_100_100[],c_99 nl 99 98[],clk, reset);
pl_ml9=nnl_d(a_101_1_ 101 _100[],b_0_100 100 99[],c_nl1_99 98 n2[],clk, reset);
p5_ml2=nnl_d(a_101_1 101 _100[],b_100_0 100 _100[],c_99 nl nl 99[],clk, reset);
p4_nB8=p5_ml2;

pl_n20=nnl_d(a_1_1 101_100[],b_0_100_100 99[],c_nl 99 98 98[], clk, reset);
p5_ml3=nnl_d(a_101_101_1 101[],b_100_0 100 _100[],c_99 nl1 99 98[],clk, reset);
p5_ml4=nnml_d(a_101_1_ 101 _101[],b_100_0 100 99[],c_99 n1 99 98[],clk, reset);
pl_n2l=nnl_d(a_1_101_100 O[],b_0_ 100 99 99[],c_nl_99 99 98[],clk, reset);
pO_mlO=pl_nR1;
p5_ml5=nnl_d(a_102_101_1 101[],b_100_0 100 _100[],c_99 nl1 99 98[],clk, reset);
pl_n22=nnml_d(a_1_101_101_100[],b_0_100 100 99[],c_nl1_99 98 98[], clk, reset);
p5_ml6=nnl_d(a_101_101_1 101[],b_100_0 100 _100[],c_99 nl1 99 99[],clk, reset);
p9 ml9=nnl_d(a_2_102_101 1[],b_101_100 100 O[], c_100 99 nl 99[],clk, reset);
p3_ml6=nnml_d(a_1_1 101_100[],b_100_0 100 99[],c_99 nl 99 99[],clk, reset);
p2_mll=p3_mil6

p7_ml7=nnl_d(a_102_101_1 101[],b_101_100_0_100[],c_99 nl1 99 99[],clk, reset);
pl_nm23=nnil_d(a_1 101_101_100[],b_0_100_ 99 ni[],c_n1_99 98 n2?[],clk,reset);
p9 n20=nnl_d(a_2_102_101 1[],b_101_100 0_100[],c_100 99 nl 99[], clk, reset);
p5_ml7=nml_d(a_101_101_1 101[],b_100_0 100 99[],c_99 n1 99 98[],clk, reset);
p5_ml8=nml_d(a_101_101_1 101[],b_100_0 0_100[],c_99 n1 99 99[], clk, reset);
p7_ml8=nnl_d(a_101_101_1 101[],b_101_100_0_100[],c_100_99 nl ni[],clk, reset);
p6_mll=p7_mi8;
p3_ml7=nnl_d(a_101_1 101 101[],b_100_0 100 99[],c_nl_nl1 99 98[],clk, reset);

p7_ml9=nml_d(a_102_101_1 101[],b_100_100 _0_100[],c_99 nl1 99 99[],clk, reset);



p9 n2l=nnl_d(a_102_102_101_1[],b_101_100_0_100[],c_100_99 n1 99[],clk, reset);
p7_n20=nnl_d(a_102_101_1 1[],b_101_100 0_100[],c_99 nl_nl1_99[],clk, reset);
p7_n2l=nnl_d(a_102_101_1 101[],b_100_100_0_100[],c_100_99 nl1 ni[],clk, reset);
p6_ml2=p7_nR1;
p5_ml9=nnl_d(a_102_101_1 101[],b_100_0 100 _100[],c_99 nl1 99 99[],clk, reset);
p3_ml8=nnl_d(a_1_1 101_100[],b_0_0 100 99[],c_nl_99 99 98[],clk, reset);
p2_ml2=p3_mi8;

p9 n22=nnl_d(a_102_102_101_1[],b_101_100_0 O[], c_100 99 nl ni[],clk, reset);
pl_nm24=nnil_d(a_101_1 101_100[],b_0_100_99 ni1[],c_n1_99 98 n2?[],clk,reset);
p3_ml9=nnl_d(a_101_1_ 101 101[],b_100_0 100 99[],c_nl1_99 99 98[],clk, reset);
p5_n20=nnl_d(a_102_101_1 101[],b_100_0 100 99[],c_99 n1 99 98[],clk, reset);
pl_nm25=nnil_d(a_1 1 101 100[],b_0_100_99 ni[],c_99 99 98 n2[],clk, reset);
p3_n20=nnl_d(a_101_1_ 101 _100[],b_0_100 100 99[],c_nl1_99 99 98[],clk, reset);
p5_n2l=nml_d(a_101_1 1 101[],b_100_0_100_100[],c_99 nl nl1_99[], clk, reset);
p4_nmd=p5_nP1;
p5_n22=nnml_d(a_101_1_ 101 _101[],b_100_0 100 99[],c_99 n1 99 99[], clk, reset);
p4_mlO=p5_np2;
p3_n2l=nnl_d(a_101_1 1 101[],b_100_0 100 99[],c_nl 99 99 98[], clk, reset);
p5_n23=nnl_d(a_101_1 101 101[],b_100_0 100 _100[],c_99 nl1 99 98[],clk, reset);
p9 n23=nnl_d(a_102_101_1 1[],b_101_100 0_100[],c_100 99 nl ni[],clk, reset);
p8_ml0=p9_nP3;
p9_n24=nnml_d(a_102_102_101_1[],b_101_100_0 O[], c_100 99 nl 99[],clk, reset);
pll n20=nnml_d(a_2_102_101_1[],b_1 101 100 O[], c_100 99 nl1_ni[],clk, reset);
pll nPl=nml_d(a_2_102_101_1[],b_101_101_100 O[], c_0_100 99 99[], clk, reset);
pl0_ml3=pll_nR1;
p5_n24=nml_d(a_102_101_1 101[],b_100_0 0_100[],c_99 n1 99 98[],clk, reset);
p3_n22=nnml_d(a_101_1 101 _100[],b_0_0 100 99[],c_nl1 99 98 98[], clk, reset);
p9_n25=nnil_d(a_2_102_101_1[],b_101 100 _0_O[],c_100 99 n1l ni[],clk,reset);
pll nP2=nml_d(a_2_102 101 _101[],b_1 101 100 O[], c_100_99 99 ni[],clk, reset);
p3_n23=nnml_d(a_101_1 101 _100[],b_0_0 100 99[],c_99 nl 99 99[],clk, reset);

p2_ml3=p3_ne3;



pll n23=nml_d(a_2_102_101_101[],b_1 101 100 O[],c_0_100 99 ni[],clk, reset);
pl_n26=nnml_d(a_1_101_100 _100[],b_0_100 100 99[],c_nl_nl 99 98[],clk, reset);
p0_nmll=pl_nP6;

pll nP4=nml_d(a_2_102_102_101[],b_1 101 100 O[], c_100_99 99 ni[],clk, reset);
pl_n27=nml_d(a_1_101 100 _100[],b_0_100 99 99[],c_nl1 99 98 n2[],clk, reset);
p7_n22=nnl_d(a_101_101_1 101[],b_100_100_0_100[],c_99 nl nl 99[],clk, reset);
p6_ml3=p7_np2;
p5_n25=nnl_d(a_101_101_1 101[],b_100_0 100 99[],c_nl_nl1 99 98[],clk, reset);
p9_n26=nnl_d(a_102_101_101_1[],b_101_100_100 O[], c_100_99 nl1 ni[],clk,reset);
pll n25=nml_d(a_102_ 102 101 _1[],b_101_101_100 O[], c_100 99 99 ni[],clk, reset);
pl0_ml4=pll_n®5;

pll n26=nml_d(a_2_102 101 1[],b_101_101_100 O[], c_100_99 n1 99[],clk, reset);
p5_n26=nml_d(a_101_1 101 101[],b_100_0 0_100[],c_99 99 nl1 99[], clk, reset);
p4_mll=p5_nP6;
p3_n24=nnml_d(a_1_101_101_100[],b_0_0 100 99[],c_99 nl 99 99[], clk, reset);
p2_nl4=p3_nP4,

pl_nm28=nnil_d(a_101_101 100 O[], b_0_100_99 99[],c_n1_99 99 98[],clk,reset);
p0_nml2=pl_nP8;
p6_ml4=nnml_d(a_101_1 101 _101[],b_100_0 0_100[],c_100 99 99 ni[],clk, reset);
p9 n27=nnml_d(a_101_101_1 101[],b_101_100_0 O[], c_100 99 99 ni[],clk, reset);
p8_mll=p9 nR7;
p7_n23=nnl_d(a_101_101_1 101[], b_100_100_0 100[],c_100_99 99 ni[],clk, reset);
p6_ml5=p7_nP3;
pO_ml3=nnl_d(a_101_100_100 O[], b_100_100_99 99[],c_nl1_99 99 98[],clk, reset);
p2_ml5=nnil_d(a_1 101 101 _100[],b_0_0_100_99[],c_99 n1 n1 99[],clk,reset);
p6_ml6=nnl_d(a_101_1 1 101[],b_100_100 0_100[],c_100 99 99 ni[],clk, reset);
p2_ml6=nml_d(a_1_101_ 100 _100[],b_0_0_100_100[],c_99 99 nl1 99[], clk, reset);
p4_ml2=nml_d(a_1_1 101_100[],b_100_0_100_100[],c_99 99 nl1 _99[], clk, reset);
p3_n25=nml_d(a_1_101_100 _100[],b_0_100 100 99[],c_nl_nl1 99 99[],clk, reset);
p2_ml7=p3_nP5;

p6_ml7=nml_d(a_101_1 1 101[], b_100_100 0 O[], c_100 99 99 ni[],clk, reset);



p5_n27=nml_d(a_1_1 101_100[],b_100_0_100_100[],c_99 nl_nl1_99[], clk, reset);
p4_ml3=p5_nR7;
pl0_ml5=nnml_d(a_102_ 101 1 1[],b_101_101_100 _100[],c_0_100_100 99[], clk, reset);
p4_ml4=nnil_d(a_1 1 101 100[],b_100_0_0_100[],c_99 99 nl nil[],clk,reset);
p3_n26=nnl_d(a_1_101_101_100[],b_0_100 100 99[],c_nl_nl1 99 99[],clk, reset);
p2_ml8=p3_np6;
p2_ml9=nnl_d(a_1_101 101 100[],b_0_0_100_100[],c_99 nl_nl1_99[],clk, reset);
p7_n24=nnml_d(a_101_1_ 1 101[],b_100_100 0_100[],c_100 99 nl ni[],clk, reset);
p6_ml8=p7_nR4;

pll n27=nml_d(a_102_101_1 1[],b_101_100_100 O[], c_100_100 99 99[],clk, reset);
pl0_ml6=pll_nP7;

p7_nm25=nnil_d(a_101_1 1 101[],b_100_0_0 _100[],c_100 99 n1l ni[],clk,reset);
p6_ml9=p7_nP5;
p8_ml2=nml_d(a_101_1 1 101[],b_101_100 0 O[], c_100_100_99 ni[],clk, reset);
pO_ml4=nnl_d(a_101_100_100 O[], b_100_100_99 99[],c_nl_nl1 99 99[],clk, reset);
pll n28=nml_d(a_102_ 101 101 _1[],b_101 101 100 O[], c_0_100 99 99[],clk, reset);
pl0_ml7=pl1_n28;

p4_ml5=nnml_d(a_1_1 101_100[],b_100_0_100_100[],c_99 99 nl ni[],clk, reset);

pll n29=nnl_d(a_102_ 101 101 _1[],b_101_100 100 O[], c_100 100 99 99[],clk, reset);
pl0_ml8=pl1_nR9;

p6_n20=nnl_d(a_1_1 101_101[],b_100_100 0_100[],c_100 99 99 ni[],clk, reset);
p8_ml3=nnl_d(a_101_1 1 101[],b_101_100 0 O[], c_100_100_99 99[], clk, reset);
p4_ml6=nml_d(a_1_101 101 _100[],b_0_0_100_100[],c_99 99 nl1 99[], clk, reset);
pl0_ml9=nnml_d(a_102_101_1 1[],b_101_101_100 O[], c_0_100 100 99[],clk, reset);
p4_ml7=nnml_d(a_1_101_101_100[],b_100_0 100 _100[],c_99 99 nl nl[],clk, reset);
pll nB80=nnml_d(a_102_ 102 101 _1[],b_1 101 100 O[],c_0_100 100 99[],clk, reset);
pl0_n20=pll_nBO0;
pO_mil5=nnl_d(a_101_101_100 O[], b_0_100 100 99[],c_99 n1 99 99[], clk, reset);
p4_ml8=nml_d(a_1_101 101 _100[],b_0_0_100_100[],c_99 99 nl1 ni[],clk, reset);

pll nB8l=nnml_d(a_102_ 102 101 _1[],b_101_101_100 O[], c_0_100_100 99[], clk, reset);

p10_nR1=pll_nB1;



p8_ml4=nnl_d(a_101_101_1 101[],b_101_100_100 O[], c_100_100_99 99[], clk, reset);
pl0_nP2=nml_d(a_102_101 101 _1[],b_101_101_100_100[],c_0_100_100 99[],clk, reset);
p6_n2l=nnml_d(a_1_1 101_100[],b_100_0 0 _100[],c_100 99 99 ni[],clk, reset);
p6_n22=nnml_d(a_1_1 101_101[],b_100_0 0 _100[],c_100 99 99 ni[],clk, reset);
p2_n20=nnl_d(a_1_101_100 _100[],b_0_100 100 99[],c_99 nl1 99 99[], clk, reset);
pll nB82=nml_d(a_102_ 101 101 _1[],b_101 101 100 O[], c_0_100 99 ni[],clk, reset);
pl0_nP3=pll_nB2;

p6_nm?23=nnil_d(a_1 1 101 101[],b_100_0_0 _100[],c_100 99 n1l n1[],clk,reset);

p9 n28=nml_d(a_102_101_1 1[],b_101_100 0 O[], c_100_100_99 ni[],clk, reset);
p8_ml5=p9_nes;

p2_nm2l1=nni_d(a_1 101 _100_100[],b_0_0_100_99[],c_99 n1 n1 99[],clk,reset);
p6_n24=nnml_d(a_101_1 101 101[],b_100_100_0 O[], c_100 99 99 ni[],clk, reset);
pl_nm29=nni_d(a_1 101 _100_0O[],b_0_100_100_99[],c_n1l n1 99 98[],clk,reset);
p0_ml6=pl_nR9;

p3_nm27=nnil_d(a_1 101 _100_100[],b_0_0_100_99[],c_n1l n1 99 99[],clk,reset);
p2_nP2=p3_nR7;
p3_n28=nnl_d(a_1_101_101_100[],b_0_100 100 99[],c_99 n1 99 99[],clk, reset);
p2_n23=p3_nes;
pl0_nP4=nml_d(a_102_ 101 101 _1[],b_101_101_100 O[], c_0_100_100 99[], clk, reset);
p3_nm29=nnil_d(a_1 101 _101_100[],b_0_0_100_99[],c_n1l n1 99 99[],clk,reset);
p2_nR4=p3_nR9;
p6_n25=nnml_d(a_101_1_ 101 101[],b_100_0 0_100[],c_100 99 nl ni[],clk, reset);
pO_ml7=nml_d(a_101_100_100 0[], b_0_100 99 99[],c_nl _nl 99 99[],clk, reset);
pO_ml8=nml_d(a_101_100_100 0[], b_0_100 99 99[],c_nl1 99 99 98[], clk, reset);
p5_nm28=nnil_d(a_1 1 101 100[],b_100_0_100_99[],c_99 n1 n1 99[],clk,reset);
p4_ml9=p5_nP8;
pl0_n25=nml_d(a_101_101_1 1[],b_101_100_100 O[], c_0_100 100 99[],clk, reset);
pO_ml9=nnl_d(a_101_100_100 0[], b_0_100 99 99[],c_nl _nl 99 98[],clk, reset);
p5_nm29=nnil_d(a_1 1 101 100[],b_0_0_100_100[],c_99 n1 nl1l 99[],clk, reset);
p4_n20=p5_nR9;

p1l0_nR6=nml_d(a_101_101_1 1[],b_101_101_100 O[],c_0_100_100 99[],clk, reset);



p2_n25=nnml_d(a_101_101_100_100[],b_0_100_100 99[],c_99 nl1 99 99[],clk, reset);
p8_ml6=nnl_d(a_101_101_1 101[],b_101_100_100 O[], c_0_100 99 99[],clk, reset);
p4_nm2l=nnil_d(a_1 1 101 100[],b_100_0_0 _100[],c_100 99 n1l ni[],clk,reset);
p2_n26=nnml_d(a_1_101_100 _100[],b_0_100 100 99[],c_99 nl _nl 99[],clk, reset);
p3_nB0=nnl_d(a_1_101_101_100[],b_0_0 100 99[],c_99 nl 99 98[], clk, reset);
p2_n27=p3_nB0;

p9 n29=nnl_d(a_101_101_1 101[],b_101_100_0_100[],c_100_99 99 ni[],clk, reset);
p8_ml7=p9_nR9;
p5_nB0=nnl_d(a_101_1 101 _100[],b_100_0 100 _100[],c_99 99 n1 99[],clk, reset);
p4_nP2=p5_n80;
p2_n28=nml_d(a_1_101_ 100 _100[],b_0_0_100_100[],c_99 nl nl1_99[],clk, reset);
p6_n26=nnl_d(a_101_1 101 101[],b_100_100_0 100[],c_100_99 99 ni[],clk,reset);
pl0_n27=nml_d(a_102_101_1 1[],b_101_101_100 _100[],c_0_0 100 99[],clk, reset);
pll nB83=nnml_d(a_102_ 101 101 _1[],b_101_100 100 O[], c_0_100 99 99[],clk, reset);
pl0_nP8=pll_nB3;
p7_n26=nnml_d(a_101_1 101 101[],b_100_0 0_100[],c_99 99 nl1 ni[],clk, reset);
p6_nR7=p7_ne6;
pO_n20=nnl_d(a_101_101_100 O[], b_0_100 100 99[],c_nl_nl1 99 99[],clk, reset);
p4_nm23=nnil_d(a_1 1 101 101[],b_100_0_0_100[],c_99 99 nl nil[],clk,reset);
p2_n29=nnl_d(a_101_101_100 O[], b_0_100 100 99[],c_99 nl1 _nl 99[],clk, reset);
pl0_n29=nnml_d(a_102_ 101 1 1[],b_101_100_100 O[],c_0_100 99 99[], clk, reset);
p3_nmBl=nnil_d(a_1 1 101 100[],b_0_0 100 _99[],c_99 nl1 nl1 99[],clk,reset);
p2_nB0=p3_nB1;
p8_ml8=nnl_d(a_101_101_1 101[],b_101_100_0 O[], c_100_100 99 ni[],clk, reset);
p7_nm27=nnil_d(a_101_1 1 101[],b_100_0_0_100[],c_99 99 nl nil[],clk, reset);
p6_n28=p7_nR7;

p5_nB8l=nnml_d(a_1_1 101_100[],b_100_0_100_100[],c_99 n1 99 99[], clk, reset);
p4_nP4=p5 nB1,

pl1l nB84=nml_d(a_102_101_101 1[],b_101 101 _100_0[],c_100_100 99 99[],clk, reset);
pl0_nB0=pll_nB4;

p8_ml9=nml_d(a_101_1 1 101[], b_100_100 0 O[], c_100_100 99 99[],clk, reset);



pl0_nB8l=nml_d(a_102_101_1 1[],b_101_100_100 O[], c_0_100 100 99[],clk, reset);
p8_n20=nnl_d(a_101_1 1 101[],b_101_100 0 O[], c_100 99 99 ni[],clk, reset);
p6_n29=nnl_d(a_101_1 101 101[],b_100_100_0 O[], c_100_100 99 99[],clk, reset);
pO_n21l=nnl_d(a_101_101_100 O[], b_0 100 99 99[],c_nl _nl 99 98[],clk, reset);
p2_n8l=nnl_d(a_101_101_100_100[],b_0_100_100 99[],c_99 nl _nl1 99[],clk, reset);
pO_n22=nnl_d(a_101_100_100 O[], b_100_100_99 99[],c_nl_nl1 99 98[],clk, reset);
p2_n82=nml_d(a_1_101_100 _100[],b_0_0 100 99[],c_99 nl 99 99[], clk, reset);
p5_n82=nnml_d(a_1_1 101_100[],b_100_0 0 _100[],c_99 99 n1 99[],clk, reset);
p4_nP5=p5_nB2;
p8_n21=nnl_d(a_101_101_1 101[],b_101_100_0 O[], c_100 100 99 99[],clk, reset);
pO_n23=nnl_d(a_101_101_100 0[], b_0_100 99 99[],c_nl _nl 99 99[],clk, reset);
pl0_nB2=nml_d(a_101_101 1 1[],b_101_100_100 O[],c_0_100 99 99[], clk, reset);
p8_n22=nnl_d(a_101_101_1 1[],b_101_100 100 O[], c_100 100 99 99[],clk, reset);
pl_nB0=nni_d(a_1 101 _100_0[],b_0_100_99 99[],c_nl1l n1 99 98[],clk, reset);
pO_nR4=pl_n80;
p2_n83=nnl_d(a_101_101_100_100[],b_0_0 100 99[],c_99 nl _nl 99[],clk, reset);
pO_nm25=nnil_d(a_1 101 _100_0[],b_0_100_100_99[],c_nl1l n1 99 99[],clk,reset);
pO_n26=nnl_d(a_101_101_100 O[], b_0_100 100 99[],c_nl_nl1 99 98[],clk, reset);
p4_n26=nnl_d(a_1_101_101_100[],b_100_0 100 _100[],c_99 nl nl 99[],clk, reset);
pl_n8l=nnl_d(a_101_101_100 O[], b_0 100 99 99[],c_nl 99 98 98[], clk, reset);
p0_nR7=pl_nB1;

p9 nB0=nnl_d(a_101_101_1 101[],b_101_100_0 O[], c_100 99 nl ni[],clk, reset);
p8_n23=p9_nB0;
pl_n82=nml_d(a_101_101_100 0[], b_0_100 99 ni[],c_nl1 99 99 98[],clk, reset);
p0_n28=pl_nB2;
pO_n29=nnl_d(a_101_100_100 O[], b_0_100 100 99[],c_nl_nl1 99 99[],clk, reset);
p8_n24=nml_d(a_101_1 1 101[],b_100_100 0 O[], c_100_100_99 ni[],clk, reset);
pl_n83=nnl_d(a_101_101_100 O[], b_0_100 99 ni[],c_nl1 99 98 98[], clk, reset);
p0_nB0=pl_nB3;
p7_n28=nml_d(a_101_1_ 1 101[],b_100_100 0_100[],c_100 99 nl 99[], clk, reset);

p6_nB0=p7_nP8;



p10_n83=nnl_d(a_101_101 1 101[],b_101_100_100 O[], c_0_100_100 99[], clk, reset);
p4_n27=nml_d(a_1_101_101_100[],b_100_0 100 _100[],c_99 99 nl 99[],cl k, reset);
p7_n29=nnml_d(a_101_1 1 101[],b_100_100_0_100[],c_99 99 nl ni[],clk, reset);
p6_nB1l=p7_n29;
p5_n83=nml_d(a_101_1 101 101[],b_100_0 100 _100[],c_99 99 nl1 99[],cl k, reset);
p4_nP8=p5_n83;
p8_n25=nml_d(a_101_101 1 101[],b_101_100_100 O[], c_100_100 99 ni[],clk, reset);
p4_n29=nnml_d(a_1_101 101 100[],b_100_0_0_100[],c_99 99 nl ni[],clk, reset);
p9_n8l=nml_d(a_102_101 1 101[],b_101_100_100 O[], c_100_100 99 ni[],clk, reset);
p8_n6=p9 _ns1;
p10_n84=nnil_d(a_102_101 1 1[],b_101_101_100 O[], c_0_100 99 99[],clk, reset);
p8_n27=nml_d(a_101_101 1 1[],b_101_100_100 O[], c_100_100 99 ni[],clk, reset);
p8_ne8=nml_d(a_101_1 1 101[],b_101_100_100 O[], c_100_100 99 99[],clk, reset);
pll n85=nnil_d(a_102_102 101 1[],b_101_101 100 100[],c_0_100_100 99[],cl k, reset);
p10_nB85=pll_nB5;
p0_nB1l=nnl_d(a_101_101_100_100[],b_0_100_100 99[],c_nl_nl 99 98[], clk, reset);
p7_n80=nml_d(a_101_101 1 101[], b_100_100 0 O[], c_100_99 99 ni[],clk, reset);
p6_nB2=p7_n80;

pll n86=nnil_d(a_102_102_101 1[],b_1 101 100 _100[],c_0_100_100 99[], clk, reset);
p10_nB86=pll_nB86;
p6_n83=nml_d(a_101_1 101 101[],b_100_100_0_100[],c_100 99 ni_ni[],clk, reset);
p2_nB4=nml_d(a_1_101_100_100[],b_0_0_100_100[],c_99 99 nl ni[],clk, reset);
p10_n87=nnl_d(a_102_101 101 1[],b_101_101_100_100[],c_0_0_100 99[], clk, reset);
p0_nB2=nnl_d(a_101_101_100_100[],b_0_100_100 _99[],c_nl_nl 99 99[], clk, reset);
pl nB4=nnml_d(a_101_101 100 O[], b_100_100_99 99[],c_nl 99 99 98[],clk, reset);
p0_nB3=pl_n84;
p5_nB4=nml_d(a_101_1 101 100[],b_100_0_0_100[],c_99 99 nl 99[],clk, reset);
p4_nB0=p5_n84;
p9_n82=nml_d(a_102_101 1 101[],b_101_100 0 O[], c_100_100 99 ni[],clk, reset);
p8_nP9=p9 nB82;

p8_nB0=nml_d(a_102_101_1 101[], b_101_100 100 O[], c_100_100 99 99[],clk, reset);



%

%

%

%

%

%

pl_n85=nml_d(a_1_101 100 _100[],b_0 100 99 99[],c_nl _nl 99 98[],clk, reset);
p0_nB4=pl_nB5;

pll nB87=nml_d(a_102_ 102 101 _1[],b_1 101 100 _100[],c_0_100 99 99[],clk, reset);
pl0_nB8=pll_nB7;
p4_n8l=nnl_d(a_1_1 101_101[],b_100_0 0 _100[],c_99 99 n1 99[],clk, reset);
p8_nBl=nnl_d(a_101_1 1 101[],b_101_100 100 O[],c_0_100_99 99[], clk, reset);
p6_nB4=nnl_d(a_101_1 101 101[],b_100_100_0 O[], c_100_100 99 ni[],clk, reset);
pll nB88=nml_d(a_102_ 101 101 _1[],b_1 101 100 O[],c_0_100 100 99[],clk, reset);
pl0_nB9=pll_nB8;

pl_nmB6=nnil_d(a_1 101 _100_0[],b_0_100_99 ni[],c_nl1 99 99 98[],clk, reset);

p0_nB5=pl_n86;

OR the results of the above "nunber of m sses" %

pi xel 0=l pm_or (p0_ni])
with (LPM W DTH=1, LPM S| ZE=35) ;

OR the results of the above "nunber of m sses" %

pi xel 1=l pmor (pl_ni])
with (LPM W DTH=1, LPM S| ZE=36) ;

OR the results of the above "nunber of m sses" %

pi xel 2=l pm_or (p2_n{])
with (LPM W DTH=1, LPM S| ZE=34) ;

OR the results of the above "nunber of m sses" %

pi xel 3=l pm_or (p3_n{])
with (LPM W DTH=1, LPM SI ZE=31) ;

OR the results of the above "nunber of m sses" %
pi xel 4=l pm or (p4_ni])

with (LPM W DTH=1, LPM SI ZE=31) ;

OR the results of the above "nunber of m sses" %



%

%

%

%

%

%

pi xel 5=l pm_or (p5_n{])
with (LPM W DTH=1, LPM S| ZE=34) ;

OR the results of the above "nunber

pi xel 6=l pm_or (p6_n{])
with (LPM W DTH=1, LPM S| ZE=34) ;

OR the results of the above "nunber

pi xel 7=l pm_or (p7_n{])
with (LPM W DTH=1, LPM SI ZE=30) ;

OR the results of the above "nunber

pi xel 8=l pm_or (p8_n{])
with (LPM W DTH=1, LPM Sl ZE=31) ;

OR the results of the above "nunber

pi xel 9=l pm_or (p9_ni])
with (LPM W DTH=1, LPM Sl ZE=32) ;

OR the results of the above "nunber
pi xel 10=l pm or (pl0_ni])
with (LPM W DTH=1, LPM SI ZE=39) ;

OR the results of the above "nunber
pi xel 11=l pm or(pll_ni])
with (LPM W DTH=1, LPM S| ZE=38) ;

END;
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m sses"

m sses"

m sses"

m sses"

m sses"

m sses"

%
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